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T & 1 QI TH 8 ?
(A) Y B) fedfa
(C) Ttk (D) wrufires

What is another name for the Service
Sector ?

(A) Agriculture (B) Secondary

(C) Tertiary (D) Primary
AR T I9d THITd o SIeh o &Y 4 i
AT AR ?

(A) A Tear

(B) TH.UH. LS IEIEIDE]

(C) Tt HEd

(D) . srfi| piEa

Who is known as father of White
Revolution in India ?

(A) Norman Edburg

(B) M.S. Swaminathan

(C) Balwant Rai Mehta

(D) Dr. Verghese Kurian

Forereh e o woraed fsfl faw 4 gfg
1 31fereh Ty BFAY 7

(A) SAfRTTA H

(B) 8 Uit 9T 3THTfa wnfed

(C) &I

(D) IRAI I Higd

Private investment will be most likely
to be increased as a result of a rise in
(A) Personal taxation

(B) Expected yield on new capital

(C) The rate of interest
(D) The price of shares

W h1 TE 3T T SATehei hid aTe!
e 3

(A) i Hiferhl e

(B) fora wamer

(C) ITR.3TE.

(D) Hifa

The agency estimating the National
Income of India is

(A) Central Statistical Organization
(B) Ministry of Finance

(C) RBI

(D) NITI Aayog

GAMMA21

FrefeTfiea © | a1 YR dfag™ i e
IENERIE R

(A) TorRga afaem TR afaam 6 war=a
(B) Ifaa=t =t ferawon

(C) 39 Heft L

(D) Yideg =m=ra=

Which one of the following is not a salient
feature of the Constitution of India ?
(A) Written Constitution
Supremacy of the Constitution
Distribution of powers

(C) Quasi federal structure

(D) Committed judiciary

IR H ST IR 1991 % S Tema
HAY ?

(A) T 4 HIE TE

(B) <. w e fig

(C) .. g e

(D) 31ea fargr et

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) None of these

(B) Dr. Manmohan Singh

(C) P.V.Narsimha Rao

(D) Atal Bihari Vajpayee

A < Giog™ § 30 § =1 T g o
Tfrfera T8 & 2

(A) Tue gfska gfgan

(B) S

(C) g™

(D) T 3R Fae

Which one of the following is not
included in the state list in the
Constitution of India ?

(A) Criminal Procedure Code

(B) Prison

(C) Police

(D) Law and Order

and

(B)



10.

- w=Ed U9 ST &1 femr
ferE @ o 2

(A) TTH YRR T

(B) TIS HHITH

(C) seIad TF Hgdl Hudl

(D) 37Tk HgdT il

Who had proposed the idea of three tier
Panchayati Raj System ?

(A)
(B)
©)
(D)

7 5 9 Fa1 wRd™ AT HI SRS
=T JEH LT & ?

(A) FHEBR T

(B) Ts¥ Hif & fgeres fagra

(C) Tifetes AfTHR

(D) TifeTeh Haea

What ensures economic justice to Indian
citizens ?

(A)
(B)
©)
(D)

WRATA |T9M %1 SF @ Iess T
TR 1 TTH YAl o 3TRISH & fou
e g ?

(A) D46 (B) IHTHe 44
(C) 3T=E38 (D) ITHE 40

Which Atrticle of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 46
(C) Article 38

None of these

Royal Commission

Balwant Rai Mehta Committee
Ashok Mehta Committee

None of these

Directive Principles of State Policy
Fundamental Rights

Fundamental Duties

(B) Article 44
(D) Article 40

11.

12.

13.

14.

15.

e 1 Wl wTE 3 9 Teraehl Iufeurta
% I BIAT & 2

(A) i A

(B) 3T A

(C) wsfes 3

(D) THifH A

Sour taste of lemon is due to the
presence of which of the following ?
(A) Formicacid (B) Oxalicacid
(C) Citricacid (D) Aceticacid
ShehesTeh TP ¥ BrdT 2

(A) THI(3WAW) (B) R

(C) TAIM (D) WHE
Carcinogenic chemicals cause

(A) Asthma (B) Cancer

(C) Heart diseases (D) Diabetes
= S FUL T FAT HATA B 2

(A) Tafsre = (Wt i)

(B) = ()

(C) 3iav=H (TgiefHa)

(D) fererd (frefifa)

Name the upper layer of the skin :

(A) Special Dermis (B) Dermis

(C) Endodermis (D) Epidermis
ferteft 1 o wfche o e gIaT 8 2

(A) 3O HIE dlees T& il

(B) Teg= &g a1 9T 8H W

(C) T En ™

(D) fE=EgEN®

Current flows in a circuit when

(A) There is no voltage.

(B) The switch is either opened or closed.

(C) A switch is opened.
(D) A switch is closed.

i Al S.I. ShIS TS ?
(A) UERR (B) diee
(C) s (D) e

What is the S.I. Unit of resistance ?

(A) Ampere (B) Volt

(C) Faraday (D) Ohm
GAMMA21




16.

17.

18.

19.

| 36.1 _9
102.4

29 19
A = B) =
29 19
© 3 D) =
Th I oh! SHEEAT H 4% i AT g

Bt & T TR % HRO Lo, iR

2
Teh T i STt & | < @t 6 gfg o wfesra
I &I ?

The population of a town increases 4%
annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?
(A) 10.8 (B) 10.5
(C) 9.8 (D) 10

aﬁ(nzquﬁgjnwmﬁ;

169

If (1 + 27 j = (1 +%) , then the value

169
of xis:
(A) 7 B) 5
© 1 D) 3

W%ﬁ@ﬁﬁﬁﬁ%%?
(A) Trgifa T8 s T
(B) 500

(C) 300
(D) 400

How many % ’s are there in 37 % ?

(A) cannot be determined
(B) 500
(C) 300
(D) 400

GAMMA21

20.

21.

22,

|23

24.

25.

13 9ftorm} 1 37Ed 68 7 | U8t |Id I
37d 63 7 3R 31Ra T1d =1 3fi|d 70 2,
@t |rdd < g § —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 94 (B) 735

(C) 47 (D) 655

‘Thici H W g’ 9 o foqw i few o
foreheu © @ U I1eg g ¢

(A) HHIhHIvl

(B) eIl

(C) e

(D) ferchiot

GY %1 g¥ FN AT 1 IT AT HETel o
3:{?}%

(A) 3faa fota s

(B) weraTaqut futr e

(C) g oIS A

(D) THeA-Terent T

[ T BT = HIT |
(A) SshR
(B) R
(C) wEShR
(D) WEsh

fr= a9 e o fadm s T R 7

(A) Fivad (B) wmfi
(C) d= (D) T

TSTaed’ Rl TIFAT 3
(A) sy (B) Tt
(C) T (D) TeATE



Directions : Read the passage carefully and
answer the corresponding questions : (26-28)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying
to get to sleep but my fear made that
impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

26. Which one of the following did the
author do first ?

(A) None of these

(B) Rolling himself into blankets.

(C) Closing the door.

(D) Climbing into bed.

27. The author sat peering into the darkness
because

(A) he was afraid.

(B) the window had looked like a plate
(C) he had put out the light.

(D) he wished to see the window.

28. The author jumped out of bed because

(A) he was pushed by someone.

(B) acold breeze blew past his face.

(C) he heard a faint sound.

(D) he saw someone coming towards
him.

29. Give Synonym for the following word :

Pride

(A) Cowardice

(C) Humour

(B) Dignity
(D) Hate
30. Give Antonym for the following word :
Keen

(A) Eager
(C) Dull

(B) Humble
(D) Alert

31.

32.

33.

34.

fereht ffead e w1 § COMPUTRONE
%! fer@r a1 8 PMOCTUENOR | 38t
% W1 § ADVANTAGES %1 %1 feran

ST ?

In a certain code language,
COMPUTRONE is  written as
PMOCTUENOR. How is

ADVANTAGES written in that code ?
(A) NAVDASEGAT
(B) AVDATASEGN
(C) SEGATNAVAD
(D) AVDATNSEGA

Teh HATGH! - Ueh Aleel & T, “Jrel Hi
ufer 1 5& o g3 7 | 98 ufgen 3@

e & forg TR Fafta g 7
(A) w& (B) =i
(C) G (D) drdft

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Sister (B) Mother

(C) Daughter (D) Grand daughter
feu M faehedt # & wefa weg @1 w=A
i -

$l T R T

(A) (B) wHaf@m

(€) = (D) T

Select the related word from the given
alternatives :
Dog : Rabbies : : Mosquito : ?

(A) Stings (B) Malaria

(C) Plague (D) Death

39 TG 1 =T hITSTT ST FHG o STeh! Teq]
EECEREcCall

(A) Ted (B) FM

(C) T (wdgfr) (D) IEER
Choose the word which is least like the
other words in the group :

(A) Priest (B) Monk
(C) Nun (D) Knight
GAMMA21



3s.

36.

37.

38.

GAMMA21

ISR, 7 22 I, 2021 § fohg =
e
(A) (B)

(C) HRLTHTE (D) forsm

Which payment system has been barred
by RBI from issuing new cards from
22 July, 2021 ?

(A) None of these (B) Rupay

(C) Mastercard (D) Visa

AN o SR H STTEehal 9@ o 35evd §

WA | fohEreh G WIETSd T T AT

& TeRat T 2

(A) &R T

(B) 3TN FATeT .

(C) ¥aTEA TF YNGR HedTol FoTerd

(D) & HATe™

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) None of these

(B) Ministry of Ayush

(C) Ministry of Health and Family
Welfare

(D) Ministry of Home Affairs

Ife 18 ®EH, 2005 I IEHAR 8,
18 ®ERY, 2007 1 1A &1 fe g 2

(A) 999X (B) #HITTIR

(C) Te@r (D) HHaR

If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?

(A) Wednesday (B) Tuesday
(C) Sunday (D) Monday

T b 3H JH T o1 W 11 8 Fe 3197
et FaTfe <1 e o wem foran g 2
(A) HAEH (B) TR

(C) TUd (D) deTTHT
Name the state of India which became
the first state to provide health insurance
for all its residents.
(A) Karnataka
(C) Gujarat

(B) Rajasthan
(D) Telangana

39.

40.

41.

42,

AR TA7 3 HIHR T 79 T BRI I
aﬂ:lgaﬁﬁg@mﬁﬁa‘r % AT W
w@e |

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress

(A) Vidya Balan

(B) Deepika Padukone

(C) Aishwarya Rai Bachchan

(D) Priyanka Chopra

9 2021 % 7T form <@ o1 qrEare fava
T ged SfwerTedt grEare i gl § gey
SR ?

(A) SUHE (B) 9¥rd

C) &5 (D) ZA.TA.

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?

(A) Japan (B) India

(C) Russia (D) U.S.

i duferfiree 2021 # ferment wRdiE
TA o ST -dTgeh oh foTT AT fema T 2

(A) Infdfde  (B) o= ST
(C) SO AHRS (D) HIFH UTale]
Who has been named the flag-bearer of
the Indian contingent in the Tokyo
Paralympics 20217

(A) Ajeet Singh

(B) Devendra Jhajharia

(C) Kashish Lakra

(D) Mariyappan Thangavelu

2021-22 % & FEIE (JeTs-Fcer) <
foTe gemn wmfg @Td il AT TR 2

What is the interest rate on Sukanva
Samriddhi Accounts for second quarter
(July-Sept) of 2021-22 ?

(A) 9.6% (B) 8.6%

(C) 7.6% (D) 6.6%



43.

44.

45.

46.

47.

HE W T WHR T gEr
TIRHIShUT IS <l AN R B 2

(A) foEm (B) TS

(C) eI (D) 3Y JeA
Which state government implements
Chief Minister Dalit Empowerment
Programme ?

(A) Bihar (B) Tamil Nadu
(C) Telangana (D) Andhra Prades
1 1 9 ol T BT “U=T ST T W <k
ATH F ST ST 2

(A) e (B) U™

(C) ST (D) W™

Which of the following countries is known
as the land of “Thunder Dragon” ?

(A) Srilanka (B) Nepal

(C) Japan (D) Bhutan

frame fore o <6t Toem 2 2

(A) FTHARETE (B) HaHdl 3
(C) =mMR (D) AT
Riyadh is the capital of which country ?

(A) None of'these (B) Saudi Arabia
(C) Myanmar (D) Bangladesh

affeTg faum @ 2021 1 9@ fhm
Tifaeh gt = Sfar 2
(A) H.um,

(C) ZruH.. (D) I
Tamil Nadu Assembly Election 2021
was won by which political party ?

gfera

(A) PMK (B) AIADMK
(C) DMK (D) BIP

3fvees wmifd gEepies 2021 T & a1 <N
MR 2

(A) et (B) 3TEHATE
(C) Th (D) sfietve

Global Peace Index 2021 topped by
which country ?
(A) Portugal

(C) Denmark

(B) Iceland
(D) New Zealand

(B) UIETE T,

48.

h: 49.

50.

S1.

52.

Torvar o wige Uy foam e TR ST B 2
(A) 307as (B) 27H4ds
(C) 20 3K (D) 24 3THT
When is the United Nations
celebrated across the world ?

(A) November 30 (B) November 27
(C) October20 (D) October 24

Day

FAT =TT el R 8 2
(A) Temmm (B) WEH
(C) fan (D) T&m

The International Court of Justice is
located at

(A) Vienna (B) Amsterdam
(C) Geneva (D) The Hague
forea witg, @Er it fem § -
(A) Werg | (B) 3ifgen
(C) T H (D) WA Cw H

The world famous ‘Khajuraho’ sculptures
are located in

(A) Maharashtra

(B) Odisha

(C) Gujarat

(D) Madhya Pradesh

&A% i 3fY § wRd 1 Fr= °§ § B @
U9 Tl BT 8 7

(A) TS (B) Tl

(C) faferm (D) 3T

Which of the following is the smallest

state (in Area) of India ?
(A) Mizoram (B) Meghalaya

(C) Sikkim (D) Goa

TS AT o I U HCE! 1 HRIHIA feha
TEHIECATR 7

(A) 8§ (B) 698

(C) 28 (D) 48

What is the tenure of the elected

members of Rajya Sabha?

(A) 8 Years (B) 6 Years

(C) 2 Years (D) 4 Years
GAMMA21



53. 319 TehR ferafert feu S 8 2
(A) Tl wame Janat & fow
(B) @ % & § Ich¥ Yegid & foru
(C) IAmTdehTe feufa o fafrs San s fog
(D) T H ofitar & fer
Arjuna Award is given for
(A) Exceptional social services
(B) Outstanding performance in sports

(C) Exceptional service in emergency
(D) Bravery on battlefield

54, YiHg TSRS 389 30 9 fh8 TSI §
qEg R ?
(A) 3mfesm (B) TR
(C) e (D) faEr

The famous Nabakalebara festival
belongs to which of the following states?
(A) Odisha

(B) Rajasthan

(C) Kerala

(D) Bihar

55. T H @ 1 U giae T T R 7
(A) FARFITRIHTSH (CFC)
(B) HIsH STE3ATaTES
(C) Hem

(D) ATEgISH

Which of the following is not a green
house gas ?

(A) Chlorofluorocarbon (CFC)
(B) Carbon dioxide
(C) Methane
(D) Nitrogen
GAMMA21

e« Fr=ferRaa e <t exYE ufew e 3|
TR 3G T (56-60) < IR AT :
A JU A H 399 3R TR
SRIATd YT Tt B 3N Wi Tra | ot
SEHT STIETE TE & | HETcHT el o6 g § T8 4G

o fopelt $eat-3 dqen wH-wEW % @1 T

o7 | TefiSht 38 TmE HEd o | 36 di 3
e, enfifes e qenm = IuAfRET 1
AT BT Tl o7 TS 37k HeT=RuT 3T S8R
HT | W @A S hl TR W@H 6 &
HR0T IE 7 T a7 SHAiR o 7UTq 380 <
LA IR AT o A Gfefetd &, =18 9 ol &
37 T, TE AT AR ' 31eer ol gueri & |

| 3Hh 1Y Bl I§ Uoh YHUET 3T Taadl shiHal

%1 FOWeiiel TP 3TGIeF o1 | a9 YRA 6
TN & &Y H B9 AT STl 3 G-
TR 1 oY 331 8 § | g9 | el |ehd Toh
3q9 92 < § 37T T S oh oI 89 AT
feffer 72 <7 dehd & =1 IS el HHT AR H
fezn e a1 g9 3ueh fawg st & 331 wehd
o 37 EH ST T TaAATIaeh oh el ot dehd
q |

| 56, IUIRH RIS % oG <hl 369 T AT 7

(A) SHATERAT & B §aFT |

(B) 31T U o QY T |

(C) wfifer SAEATA 3R HHTER I
ST &1 |

(D) YR Waaal U™ sl fomiwan
AT |

| 57, gEUSAr @ AR ®

(A) Terdlt off end st =1 W
(B) & <Y 31as

(C) weft el 1 31T
(D) o T g& T ST



58. O AT AN T AN Todadr Gum™

EECIECR

(A) zEH Teft Srfet, s, e o T A
T ot o |

(B) I8 ToddT-fE= st 3Tige o |

(C) I8 HETH Tieh & TgFaer 3R
TSI BT Jdleh T |

(D) o famg 3R oo wftrfera gu |

59. 3wtk ey Yg TR’ g o 31
3_
(A) TMHTE (B) M HE A
(C) YEHHEIAM (D) THH g

60. ST T H TRES 3 &I ¥ W AT 7

153

(A) TETCHT e & e H TP G
Har T |

(B) T[T <31 <hi g hEt off |

(C) 3TSATE! § shifcehrie <hi fereie ofirest
o |

(D) STSE % HuY H HYHI B H
INTE o |

fdwr ;. Fr=foriga e 1 samgdes dfew qen 34
T 3NTRA F¥HT (61-65) o ST AT -
faumar-traa 39 g8 1 Rk @ 79 |
3IHeh! BN 1 FAAH T | 389 HES DI
SRS ST T &Y TR TR SRl 4 I
Tue q sTamve’ Y sheud shi off | 3R I8 HeuAt
AT heuT A& oft, Tea Jemef off oft Riifes e -
T 7 i1 feremon % &9 # wfeq grar ], 6 w1
9 A g g | T @ A, "Ha 1 IR
3rafad B | SE T 3R YT, 3TN e AauaHy
w0 G 4 A2 hel ¢ 7 YA Ud Al #
AHa-Hed | Al 4 38 ®U-Hi<d

C

0T o ToTe fepa €1 srsregetl o1 forerm fopa 2 31k
30 G -Tfyr & weft S senfa w0 % fae
3T 1Y Gl @ STefl & |

Hrfgcaemied 5 o 36 7a h 9ETst

1 ferear hd gU 3 T ol T&avr fopam 2 |

T ST g @ foemr fohan St at e -wi
1 Ueh SIfeet I § 3uftrd feopan ST gepan 2 | ot
YR IA o Teh Jol H QY 37 I T TR I=
TSHS] SITdT 8, ShR &l ST & IHT JhR AHa-
IR o fafir sraaai @ 9 afe +is ueh tauq o
forTe Srar @ 1 &R IHTE ER IR W gedl § |
T &1 &Y, T[S S8 ShIHel T T el o TS
B S " g TMasfiel IYF= THITh Haeg Bl
TRl 7, SATh hl T B Thal & | Th 3
foerd 89 W =W ¥R <fugd 21, 98 Hrersaterd
Bl 9T — g foamofig 2 |

Ife ferelt =1 & S I STt 3Tk TIH
T AT Y11 IR I bl qaad YaTe Ud ST e ferd

- E9 ¥ ToRaTeiicl SIS Eehdl 2 Al WL <k forehd

I % WH W 7 T 30T et IR h
LY U T A1 T2l ST ST Hehd 7 e -
Tafercaent 7 39 GIRICIYET AT oh! TR feha
AT R STeEEE QUi % SRR -
TR o &3 H Ahetdl ITH Shl | 3FT-TeIIuT
%1 3290 2 o agea dafy Tk | T=i a8
eTaed & Toh THa-IRRX & fopet & 3171 1 3
TehR ek &1 hidl, 5 Tehr & fort) o1 &
30 Tliepr T gran | Ueft b1 Th ¢ | & Th -t
T 0T STATEIF g, A IFT-TIARI0 F g
Fcleh—THET0T (a8 | 3T o1 ey - Ffehedeh
Te, Ihd, 3id, BHS N TEI HI TIRTT
ThHAATIEh L & & | Teq-Troa faferarera
T nfeass & Afafcs IR & T @ft 3 @

- IR FEE BT R
—9_
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61.

62.

63.

64.

6S.

A YRR 1 J=Add g1 T 8 Fifh

(A) WFa SRR o i gie 61 e
Fid g |

(B) 319¥d &t I & foehd B4 & IR
g Ffsra g A 2 |

(C) WHMa YRR g¢ WiHURE 3R srawai
faffa g

(D) | IR I I Witd Arevaqg g
2|

ye-fafshement g R il T

SrRreagut gAY off

(A) e -Taferean 1 wewa wurfua e

(B) 3WI-YIRMY R IR sl M=
EEIE

(C)  fiof SR o T W Ty IR &

(D) WHI-IRR I g § S=H1

s H Wk TR sieg &1 9T B
(A) T (B) 31e¥d
€) g (D) =&

TS ! IS 1 oY €9 AT T & FiTh

(A) @guHa & faaam A a=hi g e |

(B) T i Wk AW 2 |

(C) HHa-T4 ¥ S ufed g 2, @€ gy
Hufeda g |

(D) THE FfE 1 iR g |

AxToreh gf¥ AT STUETTRA 3TYTE BT B
(A) ol |

(B) rcu-fafehcas o

(C) wfgcashR |

(D) wfecrETel §

GAMMA21

e (66-70) : Fr=iTeRra Tt o Hite 1 fafiem
a1 o S Icared (fuferam e o) ewrten w2
TR 37 L 3TN Fmfrfad gt o ST dfom

Directions (66-70) : The following graph
shows the production of cement in Million

. Tonnes during the various years. Study the same

and answer the following questions correctly :
Hivie &1 et
(fferem < o)

Production of Cement

(In Million tonnes)

100

40

66.

The average production during the first
three years was :
(A) S50MT
(C) 44MT

(B) 48 MT
(D) 46 MT

67. TITE 1 TN I &l 3T 39 N ¢
The maximum production of cement was
noted in the year :
(A) 2017-18
(C) 2013-14

(B) 2018-19
(D) 2014-15

68. ¥ 2011-12 % SR IcdTeA ghg wfeera
et o &t g | o
The percentage increase in production
during 2011-12 over its previous year was :

(A) T8 ¥ g &l / None of these
(B) 37.5%
(C) 31.8%
(D) 36%



69.

70.

Icqred JfYehdy X deh 39 9Y 9T

The production fell down to the
maximum extent in the year :

(A) 2019-20 (B) 2016-17

(C) 2012-13 (D) 2015-16

Ieare | el o Y ot o o
% QU 3rfershan 9fg 58 |
The increase in production

maximum during the year
its previous year.

(A) 2018-19
(C) 2013-14

was
over

(B) 2014-15
(D) 2017-18

T (71-75) - Tz T 7 U a5 X % ST
12013 T 2019 & &I hUS F9 H <A1 2 |

T T foa 9X STeTid g9 & IS |

Directions (71-75) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

71.

4 X R 3=

2000

Import of X —
1300

S 1200 1200

= 1 [

& 900

E700

%
T o = = e 2=
!
= = =z = Z =2
o o o o o o

forra fepam ot deh X =1 31T, X @ 30Ed
AT O 371w o ?

For how many years, there was more
import of X, than the average import of
X?

A) 1
€ 4

(B) 2
(D) 3

72.

73.

- 74.

75.

—-11 -

X o ST ST § (4 3T 3R X
A STTETA & A AT < a8 1 TR
-

The difference of the numbers of years in
which import of X is less than the

average import and in which import of X
is more than the average import is

(A) 0 (B) 1
©) 3 (D) 2

T 2018-19 % ERH X o TG § Ffcra
gfig Tl =91 % X % T % % e
Tferafia 7

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 64.38% (B) 70.6%
(C) 50.9% (D) 63.5%

4 2014-15 & 2015-16 % QRE X
I | ghg i & —

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 25.0% (B) 28.8%

(C) 43.0% (D) 333%

Teft i & oo ay @ Iy X & 31 6
ofz 1 s (2 FEH) 2
Average of the increase in import of

X year by year for all the years is
(in X crore)

(A) T8 ¥ g &l / None of these
(B) 325
(C) 260
(D) 280
GAMMA21



T (76-80) : € 7T qTfeteRt/ARUR 1 SIS
A L a9 e I9Ai & IS

Directions (76-80) : Study the table and
answer the given questions.

T aiferem § IR ==t A, B, C 91 D 918
fafy= ffi magsi Hi fshi R &
In the following table four persons A, B, C and

D are selling items on different days of the
week.

A B C D

@mar/ Monday | 40 | 45 | 25 | 20

e’/ Tuesday | 35 | 50 | 48 | 26

AR/ Friday | 25 | 28 | 15 | 41

R/ Saturday | 30 | 40 | 45 | 40

76. B, C a1 D gRI HHST: TIHAR, AR q
IR =T S=ft 778 I3t T SMFq R ?

What is the average of the items sold by
B, C and D on Monday, Tuesday and

Saturday respectively ?
(A) 45.90 (B) 46.66
(C) 44.33 (D) 42.50

77. AW o 9ft IR {1 # D g i fersht i
qorqT | B 9% bl forshl ® ferae wferema
i3 3T% ?

Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 283% (B) 18.3%
(C) 29.1% (D) 19.5%
GAMMA21

78, GHER H1 A< T g 6 sfwa i
YERAR I S TS SEGIT < 3T o W
fepam st 2 7
What is the difference between the

average of items selling on Monday to

average items selling on Friday ?
(A) 6.45
(B) 5.25
(C) 105
(D) 7.40

7, TR ! A GRI St 715 a%g T IHar

%I C GRI St 173 I T STTITd 1 T 7

What was the ratio of item sold by A on
Tuesday & items sold by C on Saturday ?

(A) 8:7
(B) 6:5
(C) 9:7
(D) 7:9

80. TR ! D gRI st T8 i, ITER i C
R =it 7T &g b1 foha ferwra oft ¢
Items sold by D on Monday is what
percent of item sold by C on Saturday ?
(A) 32.70%

(B) 44.44%
(C) 42.60%
(D) 49.55%



e (81-85) : €t 7S afetent /Tmeft w1 eaTYES
I L q i feu T i 6 3T e

Directions (81-85) : Study the table and
answer the given questions.

YR ¥ 2010-2017 & T BHAT 1 IATET

Production of Crops in India during

2010-2017
(e ﬁ) / (In tonnes)

a¥/

Year

g/ |=maa| s | v /| S/
Wheat| / /
Rice | Bajra

qet /| s/

Maize| Barley | Pulses | Potatoes

2010-11| 6121 | 874| 565 80 300 | 415 210

2011-12| 7010 | 964| 655 60 312 | 417 220

2012-13| 7112| 960| 780 55 210 | 680 222

2013-14| 7056 | 985| 1110| 40 200 310 245

2014-15| 6896 | 716| 1160| 90 216 | 370 315

2015-16 | 6912 826| 1450| 110 | 160 300 400

2016-17| 7617 | 812| 1460| 75 216 | 260 445

81.

2010-11 | 2016-17 sl (Y o HEA AT |

1 3 IcqTe fohaT R 7
(A) 253.86
(B) 353.96 <
(C) 300.00%24

(D) 293.86

What is the average yield of potatoes
during the period 2010-11 to 2016-17 ?

(A) 253.86 tonnes
(B) 353.96 tonnes
(C) 300.00 tonnes
(D) 293.86 tonnes

82.

83.

84.

8s.

13-

2016-17 9% 378 ¥ Top B8 o 3cTe

¥ frset o shi g | firree gt 61 718 7
(A) 3] (B) et
(C) it (D) SR

During 2016-17, which of the following
crops showed decrease in production in
comparison to the previous year ?

(A) Potatoes (B) Rice
(C) Barley (D) Bajra

3T T IATEA 2015-16 H 2010-11
e T m 2 7

The production of potatoes in 2015-16 is
approximately how many times that in
2010-117?

(A) 1.90

(B) 2.10

(C) 1.82

(D) 2.00

g 3cd1eA # fopg 9 < SR firrae faams
e

Wheat production started showing a
slump during :
(A) 2016-17
(C) 2013-14

(B) 2014-15
(D) 2015-16

=0 ¥ forl w8 | 2013-2017 & A

IeTE | AR g &t 1 TS 7
(A) =T (B) T
(C) wel (D) St

Which of the following crops showed the
continuous increase in production during
2013-2017 ?

(A) Bajra (B) Pulses
(C) Maize (D) Barley
GAMMA21



86.

87.

88.

89.

T A I gy A T et Tmeieh o1 2

(A) wiegfEe™m  (B) @ie fid

(C) WTEddsiell (D) WIS SoAgsi

Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?

(A) Lord Hastings

(B) Lord Minto

(C) Lord Wellesley

(D) Lord Dalhousie

WA 3fagTd el i 9 2

(A) TTHRE T

(B) &Y o HI % U Wi ACHHN

(C) < " o Jfeg AT

(D) T TIshATICe <hl THT <l FRNTT
T AT TG, Ffeheaen

In Indian History who was Dhanvantari ?

(A) None of these

(B) A famous dramatist who lived

during the time of Harsha

A famous general of Chandragupta

Maurya

A noted physician who adorned the

court of Chandragupta Vikramaditya

Tt forg shm o W 31T 2
. THEq

II. R
L 239

In which order did the following come to
India ?
I Thomas Roe

©)
(D)

Ii. Fa-hien

II. Hiuen-Tsang

(A) 1L I, 11 (B) IL1IL, I

(C) LILII (D) 1L L1
Tt -3g-gten fore 3 © S & TS
BHTUT?

(A) THARETE (B) afugamy
(C) TR (D) T

Siraj-ud-daula was defeated by British in
the battle of :

(A) None of'these (B) Wandiwash
(C) Buxar (D) Plassey

GAMMA21
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90.

91.

92.

93.

IR TP S gr fopa arfeasm o
UfceTieeh Ul RIS (qO7 TaAAT)

TEATE T e T 2
(A) TGS (B) Ul
(C) =g (D) &R

In which session, the Indian National
Congress passed the historic “Poorna
Swaraj”  (complete  independence)
resolution ?

(A) Lucknow (B) Karachi

(C) Bombay (D) Lahore

a. SIS AvHA AW 1. AT BeATA

b. T U 2. gUTYE S

c. T Hem 3. .l gmaEt

d. BH &S 4. THEE

Match the following :

a. Indian 1. Lala Hardayal

National Army

b. Ghadar Party 2. Subhash

Chandra Bose

c. Mitra Mela 3.
d. Home Rule 4.

V.D. Savarkar
Annie Besant

League
a b c d
(A) 4 2 1 3
(B) 3 4 1 2
< 1 2 3 4
(D) 2 1 3 4

HRfehTefH R o foawor areft “gfeenr o
CERRS

(A) SHARETE (B) &T@m

(C) RS (D) %R
“Indica” which is an account of Mauryan
India was authored by

(A) None ofthese (B) Hiuen-Tsang
(C) Megasthenes (D) Fa-hien

I3 I fore o WG | 9o o) 3R ?
The Simon Commission first visited
India in the year

(A) 1928 (B)

(C) 1925 (D)

1919
1926



94.

9s.

96.

97.

RIS TR STy fohg T a2 7

(A) R (B) M

(C) Tere (D) s

The Nagarjunasagar Dam has been built
across the river

(A) Cauvery
(C) Godavari

HIIUE TRE T JUH IR TS Tohy o h
T ?

The Mt. Everest was first scaled in the
year

(A) (B)
©) (D)

= o @ foraa weTem meft % Raewa
e & 2 1 R e 2

(A) YA HAM AWG

(B) WigwE 3reft formm

(C) WM 3o THRR TH

(D) ®SIIA &

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Abul Kalam Azad

(B) Mohammed Ali Jinnah

(C) Khan Abdul Ghaffar Khan

(D) Fazlul Haque

(B) Ganga
(D) Krishna

1958
1951

1955
1953

TTH T DI T ShTfhRI TS HIehH TSI
ohH H I o7 ?

(A) Tergem fafecter wHIfeeH

(B) 3INE WRa I

(C) Tt

(D) Tefie afufd

Which of the following revolutionary
groups was involved in Kakori

Conspiracy Case ?

(A) Hindustan Republican Association
(B) Abhinav Bharat Group

(C) Ghadar Party

(D) Anushilan Samiti

98.

99.

100.

few 7 <tf 3R 37 TUEl %1 B w1 S
e TE 2 ?
1. Sifsen s gefoie — S 3 et

2. SR A9 T 3R

IREET RS - IIN
3. ymmer, g um

S T
4. MY AR Ao o - fafewy
(A) 1,233 (B) 334
(C) 132 (D) 233

Which of the following passes and
locations is/are wrongly matched ?

1. Zojilaand — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. Thaga La, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) 1,2and3 (B) 3and4

(C) land2 (D) 2and3

T | fera veft sy /g 3emH &1

e

(A) HTEIHT AHIRTT

(B)  ShacIIed T TEH S&H

(C) YHUSTg IIRTY

(D) < 31RO

The name of the bird sanctuary/national
park at Bharatpur is

(A) Ghatprabha Sanctuary

(B) Keoladeo Ghana National Parks
(C) Bhensroadgarh Sanctuary

(D) Darrah Sanctuary

TTeTTS 3TITd T9 & TiE AIEh HT EId &
(A) TSHEmE  (B) 3HIE

(C) Toell-TSEU (D) hiEm

The source of iron ore for Bhilai Steel
Plant is

(A) Rajnandgaon (B) Umaria

(C) Dalli-Rajhara (D) Korba

15—
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